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Problem (1)

A) Prove that : Area of the traverse = + Y, (Xru X,-r)

B) The following figure shows a traverse line AB that passes ciose to an
irregular boundary. Stations A and B lie on the boundary. Offsets, in
meter, are taken to the boundary at right angles to AB as shown.
Calculate the total area contained between the line CD and the
irregular boundary using (i) The trapezoid rule? (ii) The Simpson's
rule?
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Problem I\o.2 (20Marks)
A) state the steps of the temporary adjustment of the automatic
level?
B) The following readings in meterS were obtained as follows:
First position of level: 3.25&1.82&1.7 5&3.14(m)
Second position of level: 0.65&1.37&2.05&1.98&0.87(m)
Third position of level: Z.I7 &L.73&1.68&1.S5(m)
Fourth position of level: 1.89&2.76&1.69& 2.89&3.45 (nt)
If the reduced level of the 2nd turning point is 36. 19 m and the second
and forth reading in fourth position of level were inverted.
I - Enter the readings in a level book (using height of the instrument
method)?
II - Calculate the reduced level of the remaining points?
III - Check your computations?
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Problem No.3 (25Marks)
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Problem No.4
A straight section of a proposed road
meters is to be constructed on ground.
centerline are given in the follorving
formation Centerline at chainage 0.0 m
the road is to fall from chainage 0.0

adi f 0.5% .The side sl

(25Marks)
having a formation width of 10

The existing ground leveis on the
table . The reduced level of the

is 19.20 m and the centerline of
to chainage 600m at a constant
to be 2 n 3 for both cut and fill.

Draw the longitudinal section showing the construction line and the cut
and filI area?
Calculate the height of cut and filI at the different chainage?
Compute the cross section areas at the different chainage?
Compute the voiurnes of cut and fill required to fbrrn the road between
chainage 00.00 m and 600 rn?

The End
With best wishcs
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Chainage (m) 00.00 100 200 300 400 i  500 600
Reduced
Level (m)

20.20 19.40 17.50 16.30 11.20 18.00 r  7.8


